Calculus | Homework #6 Section 4.1
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s(f) = 37 +4t° —6t° = S =1204+12° -1, S =0 = 1 +i-1) =

=0 or £* +1— 1 = 0. Using the quadratic formula to solve the latter equation gives us

-1+ /1% —4(1 —1 £ o fF —
“"f i1 _Zl= V5 =2 (618, —1.618. The three entical numbers are 0, 1+ UII—
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fz) =z =  f(z)=2(2*) + ™ = (2 + 1). Since £** is never 0, we have ['(z) = 0 only when
2r4+1=0 < x=—z So0—z isthe only critical number.
Fity =t/ 4—1%, [-L1,2|.
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Fit)=0 = 4-2=0 = =2 = =22 butt=—/2isnotinthe given interval, [—1,2].

F(t) does not exist if 4 — =0 = =42 but —2isnotin the given interval. f(—1)= —/3, f{«,ﬁfi] = 2 and
f(2) =0 50 f{ﬁ} = 2 is the absolute maximum value and f{—1) = —/3 is the absolute minimum value.
flz)=a—Inz, [$.2]. flz)=1-1=22L fz)=0 = ==L (Notethat(isnotin the domain of f.)
f(2)=3—Inz=119 f(1) = Land f(2) = 2 —In2 = 131 So f(2) = 2 — In2 15 the absolute maximum value and

F{1) = Lis the absolute mimmum value.
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